CHM 152/54 QUIZ 9 25 Pts Fall 2004 Name: Me’;j/
1. (8 Pts) Balance the following reaction.
. Cr0 + $0:F > O + 8406 (acidic solut ) ‘
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2. (9 Pts) Balance the following eguation.

ClO + S0 > Cr + S0 (basic solutxon)
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3. (4 Pts) In question 1 (above), ESD\CDE. is the reducing agent and
1 C>7l_’ is the oxidizing agent. ~
4. (4 Pts) Given the following information ) EEQ
) . ) oY 24 _
Half-reaction gred’ C‘_ G’) CrJ + 3e +O¢7L/
Snt* (ag) + 2e~ 2 Sn?* (ag) +0.154 Vv 3F63* +Be"' —= BFCQ* +O.77|
Fe?* fag) + 2e¢~ = Fe(s) -0.440
Fe3' (aq) + e~ - Fel* (s) +0.771 E" - 1 1.5 v
cri* fag) + 3e” = Cr(s) -0.74 Ceyj

determine the standard potential (in V) of a cell based on the reaction:

Cr(s) + 3 Fe3* (ag) » 3 Fel"* (ag) + Cr3* (aqg)



